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C
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ANSWER KEY – including SMART TIPS

1.	Are the following statements TRUE or FALSE? Copy the evidence from the text. No marks are given for only TRUE or FALSE. (2 points)
a.	Greenhouse gases are wholly responsible for the current global warming.
False. ‘... this recent climate change has been caused by human activity, and especially by the emission of greenhouse gases.’

 (
SMART
 T
I
P
:
 checkin
g
 
the
 co
ntext
 
carefully
Wh
e
n 
de
c
i
d
in
g whether
 
a 
st
a
t
emen
t 
i
s t
r
ue
 o
r 
false
,
 
you 
m
u
s
t 
rea
d
 
the
 r
e
levan
t 
par
t
 o
f 
t
he 
text 
carefully.
 
Do
 no
t 
rea
d
 
the
 
te
x
t too
 
qui
c
kly,
 
o
r you
 
might
 mis
s
 
key 
information
. 
Here
,
 
the
 
word ‘
especially
’
 
i
s 
important
:
 
t
h
i
s
 tell
s us that
 al
t
h
oug
h
 
g
reenhous
e gases
 
ar
e
 
a 
ma
j
or
 
cause
 o
f glo
b
al 
warming, 
t
h
e
y
 ar
e not
 
the
 
on
l
y 
c
a
use.
)

b.	Some animal species are decreasing in number.
True. ‘This is currently having a damaging effect on local animal populations, such as polar bears.’

 (
SMART
 T
I
P
:
 
n
e
gative and
 positiv
e
 i
nfo
r
m
a
t
i
on
Read
 
the
 stat
e
m
ent 
an
d 
t
he 
tex
t 
carefull
y f
o
r 
nega
tive 
an
d
 positiv
e
 
info
r
m
ation, 
t
o 
c
h
e
ck 
whether 
these 
match
.
 
T
he 
stateme
nt 
i
n 
q
u
estio
n
 
1
b
 
conta
i
ns 
n
e
ga
t
i
ve 
informatio
n
 
(
‘
d
e
creasin
g
’
),
 an
d 
the tex
t 
als
o c
o
nt
a
i
ns 
neg
a
tiv
e 
informatio
n
 
(‘
havin
g
 
a 
dama
g
i
ng eff
e
ct
 
o
n 
loca
l
 animal 
popul
a
tions’
).
 
Thi
s 
confirm
s 
t
hat 
t
he 
statemen
t 
i
s true.
)

2.	In your own words and based on the ideas in the text, answer the following questions. Do not copy from the text. (2 points)
a.	Why is the hot weather a problem in Africa?
Suggested answer: It is a problem because it causes the deserts to grow, reducing water and land, and causing people to die from hunger and thirst.

 (
SMART
 T
I
P
: 
g
i
vin
g 
f
u
l
l 
a
ns
w
ers
Remembe
r to
 includ
e 
al
l 
t
he
 
correct
 
infor
m
atio
n
 
i
n
 
y
o
ur 
a
n
swer
. 
Stu
de
n
ts 
sometime
s do n
o
t 
ge
t 
t
he 
ful
l 
poin
t
 
b
e
c
a
use their 
a
n
sw
e
r
s 
ar
e 
inco
m
plete
. 
Th
e 
a
n
swe
r 
‘
Peopl
e 
ar
e
 
dyi
n
g
’
 
woul
d
 no
t be
 give
n a 
ful
l 
poin
t
 
b
e
c
a
use 
i
t 
i
s n
o
t a 
f
u
l
l 
answer.
)

b.	What effect might rising sea levels have?
Suggested answer: Rising sea levels could create more tsunamis and tidal waves and some countries may be badly flooded.
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SMART
 T
I
P
:
 
u
s
ing
 
your
 
o
w
n
 words
Yo
u shou
l
d
 
al
w
a
ys
 
t
r
y
 
to
 us
e
 yo
ur 
ow
n
 word
s
 
whe
n
 
giving
 
a
n 
answer
,
 b
ut
 sometime
s 
i
t 
ca
n be 
difficult
.
 
For 
e
x
ample
, 
i
n
 qu
estion 
2
b 
i
t 
i
s
 
ha
r
d to r
e
plac
e
 th
e 
word
s 
tidal
 
waves
, 
t
s
un
am
i
s 
and 
floodi
n
g
,
 
bec
a
use these
 ar
e 
v
e
r
y 
specifi
c n
o
uns. 
However
,
 
you
 
c
a
n 
stil
l c
h
ange
 
the
 
gra
m
mar
 o
r 
word orde
r 
o
f 
t
he 
sentenc
e to
 mak
e y
o
ur 
answe
r
s 
differen
t
 fr
o
m the 
text
.
 I
n
 
t
he 
exampl
e
 sentence
,
 
the noun
 
floodin
g
 
has be
e
n
 
ch
a
n
ged 
i
nto 
t
he
 passiv
e 
ver
b 
for
m 
be f
l
oo
d
ed
.
)
3.	Find the words in the text that mean: (1 point: 0.25 points each)
a.	increase (paragraph 1)		soar
b.	huge (paragraph 2)		tremendous

 (
SMART
 T
I
P
:
 
s
y
n
o
ny
m
s
I
t 
i
s a 
goo
d 
i
d
e
a to 
mak
e
 
a
 
n
o
te 
o
f 
a
nd
 revis
e syn
o
nyms 
w
h
il
e you
 ar
e s
t
udy
i
ng. 
T
h
i
s 
wil
l
 hel
p
 
you prepar
e 
t
o 
a
n
swe
r 
thi
s 
sectio
n 
o
f
 
the 
exam
.
 
T
o 
answe
r 
q
u
estio
n b,
 firs
t 
b
r
ainstor
m
 
syn
o
nyms 
wh
i
ch 
mea
n a 
simila
r 
thin
g 
(ot
h
e
r
 
exam
p
l
es might
 includ
e 
g
r
ea
t
,
 massive
, 
vast
,
 
enor
m
ou
s
,
 
e
t
c
.
). 
The
n
 c
h
eck 
your
 
answer
s 
i
n the
 text.
)

c.	consequences (paragraph 3)	repercussions
d.	deal with, manage (paragraph 4)	handle

4.		Complete the following sentences. Use the appropriate form of the words in brackets when given. (2 points: 0.5 points each)
a.	We cannot afford to ignore the issue of climate change.
b.	Pollution, which is a major cause of global warming, has been emitted (emit) by factories since the nineteenth century.

 (
SMART
 T
I
P
: 
re
l
a
tive 
clauses
Remember
,
 w
e c
a
nnot
 us
e 
‘
th
a
t
’
 i
n 
no
n
‐
d
e
fining 
relativ
e 
clauses:
Climat
e
 
c
ha
ng
e
 
i
s t
h
e 
f
a
c
tor
 
which/tha
t 
ha
s 
cause
d a
 ris
e
 i
n tem
p
era
t
ur
e
.
BUT 
Climat
e
 
c
han
g
e,
 
that
 
w
hi
ch 
i
s
 
a 
resul
t
 
of 
h
u
m
an
 activity
,
 
i
s 
causin
g
 
t
emper
a
tures
 
t
o 
rise.
)
c.	If we don’t manage to stop (stop) climate change, some animal species will become (become) extinct.
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SMART
 T
I
P
:
 
choos
i
ng 
t
he
 
co
r
r
ect
 
ver
b
 form
Wh
e
n
 
you
 
ha
v
e to
 
complete
 
a 
sentenc
e 
wit
h
 
the
 
corr
e
ct 
v
e
r
b 
forms
,
 
rea
d
 
the
 whol
e 
sentenc
e
 very 
carefully.
 
Loo
k
 
out 
fo
r
 an
y 
linkers
,
 
tim
e ref
e
rences,
 
an
d 
o
t
he
r 
verbs
:
 al
l 
t
h
es
e c
a
n
 giv
e 
yo
u c
l
ues.
I
n 
thi
s 
sentence
,
 
th
e 
wor
d 
i
f
 
give
s
 
you a
 
clue
 
that
 
you
 
ne
e
d
 
to 
us
e a
 
c
o
ndi
t
i
onal. 
Th
e 
ver
b
 for
m 
don’t 
mana
g
e 
tell
s
 yo
u 
tha
t
 
you
 
n
e
ed to
 us
e a
 firs
t c
o
nditional
 form
,
 
s
o 
yo
u
 kno
w
 
that
 
y
o
u 
nee
d to
 us
e 
t
he 
for
m 
wil
l
 
+ 
infinitiv
e
 
fo
r 
t
he 
s
ec
o
n
d 
cl
a
u
se.
Th
e 
ver
b 
for
m
 
do
n
’t m
a
na
g
e
 
als
o 
tell
s you
 
t
hat 
t
he 
ver
b
 
which
 follow
s 
i
t
 mus
t be
 
an 
i
nf
i
n
i
t
iv
e
 
verb, 
bec
a
use 
th
e 
ver
b 
ma
n
age
 
i
s 
alwa
ys
 followe
d
 
by
 
an
 infiniti
v
e 
form
,
 
not a
 ge
rund.
)
Complete the following sentence to report what was  said.
d.	‘Are you going to attend the conference on climate change tomorrow?’
She asked him if / whether he was going to attend the conference on climate change the next day.

 (
SMART
 T
I
P
: 
reporte
d
 
speech
Yo
u 
ma
y
 
be
 aske
d to
 rewrit
e
 
a 
sentenc
e 
i
n
 
r
ep
or
ted
 speec
h
 
i
n
 
your
 
exa
m
. 
Remembe
r
 
to
 
ch
e
ck
 
the 
following
:
 
1)
 correc
t
 us
e
 o
f 
t
he report
i
ng
 verb
;
 
2)
 correc
t
 tenses
;
 
3)
 
cor
r
ect
 
pron
o
uns;
 
4)
 correc
t 
time 
and
 
place
 exp
r
essions
.
 Peopl
e
 ofte
n
 
forg
e
t
 
to 
c
h
an
ge
 
pr
o
nouns
 
an
d 
ti
m
e and
 pl
a
ce e
x
pression
s 
when 
they
 writ
e 
reporte
d 
speech
,
 s
o 
remembe
r
 
t
o 
us
e 
t
h
i
s 
checklis
t 
ever
y 
ti
m
e!
)

[bookmark: _GoBack]5.	Write about 150–200 words on the following topic. (3 points)
Describe how you think the world will change as a result of global warming.

Suggested answer:
I believe that global warming will have a huge impact on our future lives.
The world will become hotter, and we will experience more extreme weather conditions, such as hurricanes and tsunamis. As a result of the changing climate, some animals and plants may lose their habitats and become extinct. Some parts of the world could become completely uninhabitable.
Natural resources will become very expensive, and there may not be enough food and water for everybody. Some people may die of disease, poverty or starvation. Countries with more temperate climates will experience massive immigration, as people try to escape from the parts of the world with the most extreme weather conditions.
Unless we do more to help the environment, I think that our lives will be very badly affected in the future. We need to take action now.

 (
SMART
 T
I
P
: 
g
r
amma
r
 
and
 
t
e
ns
e
s
Befor
e
 
you 
wr
i
t
e
, 
t
h
i
nk
 carefull
y 
abou
t
 
the
 gramma
r
 an
d 
te
n
se
s y
o
u 
nee
d
 
to
 us
e 
i
n
 
y
o
u
r composition.
In this essay, 
y
o
u 
wil
l
 
ne
e
d to
 us
e 
f
utu
r
e
 tenses
,
 
espec
i
all
y 
will
,
 
i
n 
orde
r to 
mak
e
 pr
e
d
ictions 
about
 
the
 fu
t
u
re. 
Remembe
r
 
that
 
you
 
c
a
n 
a
dd 
variet
y 
b
y
 usin
g
 
moda
l
 
verb
s
 o
f
 possibilit
y
 
to r
e
place 
will
,
 
such
 
as 
m
ay,
 
might
 
an
d
 
could.
Always
 rea
d
 
y
o
ur 
co
m
p
ositio
n after
 
you
 hav
e
 finishe
d
 
i
t
 an
d
 
ch
e
ck
 
that
 
y
o
ur 
grammar
,
 
s
pelling, pu
n
ct
ua
tion
 
a
nd 
wor
d
 
orde
r
 
ar
e corr
e
ct.
)
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